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B.Sc. (Part - II) Examination, 2022
(Old Course)
CHEMISTRY
Paper Second

(Organic Chemistry)

Time : Three Hours] [Maximum Marks:33

 


Note: Attempt all the five questions. One question
from each unit is compulsory.

1/ Unit - 1

1.   

i 

P.T.O.
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ii 

How will you obtain the following from Glycol ?

(i) Acetaldehyde

(ii) Oxalic acid

        
 

i 

ii 

iii 

What is the reaction of Glycerol with the following com-
pounds ?

(i) Concentrate Nitric Acid

(ii) Phosphorus Penta Oxide

(iii) Phosphorus Pentachloride

 

Explain the Pinacol- Pinacolone rearrangement.
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OR

 
 

i O 3.Conc HNO

(ii)    O         6 5 2C H N Cl    NaOH

(iii)    O             2

03
300

ZnCl

C
NH

Complete the following chemical reactions ?

i O 3.Conc HNO

(ii)    O         6 5 2C H N Cl    NaOH

(iii)    O             2

03 300

ZnCl

C
NH

P.T.O.
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  

Explain the acidic character of phenol.

 
 

What are Epoxides ? How will you prepare
Ethylene oxide from Ethylene?

2 / Unit - 2

2.  >c=o   

(a) Sp          (b)   Sp2         (c)  Sp3

(d)  

The hybridisation state of carbon in >c=o group is -

(a) Sp          (b)   Sp2         (c)  Sp3

(d)  None of the above

 
 

(a) NaHSO3        (b)   HCN       (c)  CH3 Mg I

How does acetaldehyde react with the following
reagents
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(a) NaHSO3        (b)   HCN       (c)  CH3 Mg I

 

Explain Cannizzaro's reaction with its mechanism.

OR

Zn - Hg  HCl  

(a) CH3CH2OH                           (b)   CH3- CH3

(c)  CH3- CH2- CH2- CH3            (d) CH4

When acetaldehyde reacts with Zn-Hg and HCl, the
compound formed is -

(a) CH3CH2OH                           (b)   CH3- CH3

(c)  CH3- CH2- CH2-CH3             (d)   CH4

  , 
 

What are , -  unsaturated aldehyde and Ketone?
Give two examples of each.

    

i 

ii 

P.T.O.
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Explain the following-

(i) Clemmensen reduction

(ii) Wolf Kishner reduction

/ Unit - 3

3.   

(i 

ii 

iii 

How will you prepare the following compounds from
acetic acid?

(i) Acetyl chloride

(ii) Acetic anhydride

(iii) Ethyl acetate

  

(i 
ii 

Give Reasons-

(i) Formic acid is stronger acid than acetic acid.

(ii) Formic acid reduce Tollen's reagent.
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OR

 

i

   (ii

iii
iv
The nature of Urea is:
(a)  Neutral (b)   Acidic
(c)   Basic (c)  None of the above


 

i

   (ii

iii

How will you prepare the following? ( Give chemical
equations only)

(i) Lactic acid from acetylene
(ii) Acetic acid from malonic acid
(iii) Pyruvic acid from lactic acid.

P.T.O.
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 

(iLiAIH4 


 (ii


(iiiPCI5 

What happens when-

(i)   Acetyl chloride is reduced with LiAIH4.

(ii)  Acetamide is heated with bromine and potassium
  hydroxide.

(iii)Acetic anhydride reacts with PCI5.

IV/ Unit - IV

4.  
 

Write Hinsberg's method for the separation of primary
secondary and tertiary amines.

 

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)  KOH  CS2

(3) 

Explain the reaction of aniline with the following re-
agents.

(1) Bromine (2) CS2 in presence of KOH

(3) Nitrous acid

OR

 

What do you understand by diazotisation?

 





Write notes on.

(i)      Carbyl amine reaction

(ii)     Curtius reaction

P.T.O.
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5.   

What are heterocyclic compounds? Give examples.

  

Compare the basicity of pyridine and pyrrole.

 3- 
 

Explain why pyridin undergoes electrophilic substitu-
tion at 3- position.

OR

 

Write a note on : Skraup's synthesis.

 





Write notes on.

(1)   Zwitter ion

(2)    Isoelectric point

V/ Unit - V


